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N: Keine 3D-Linearisierung (OL) in Datei (F) oder PS-Startup (S), Seite 6/1
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Munsell-System Y,,=100, Mex
MmC=2, V=1, 2,5,8 &9, Mex
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g
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Xw=96,79Y,,=100,00Z,~111,46 B,
%y=0,3140y,,=0,3243 20
Aq=(ag=[ag n*ap a*ap,v]) Y
Bo=(bo=[bo,n*bo,a*bo,v]) Y
g = a0 [x/Y] L
by = bao [2/Y]

ay=1, by=-04 /‘\
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n = Mex

10 \ \\QJ ' 10
ag,y=ay(Y/Y1g-1) ex

b, y=boy(Y/Y1g-1)
a,y=0,000,b,,=0,000
ap,=0,018,by 4=-0,013
Munsell-System Y,,=100, Mex

C=2,V=1,2,5,8 &9, Mex T-10

Buntwert (Ag, Bg)

0,000 0,000
0,000 0,000
0,000 0,000
0,000 0,000

CG770-1A_6

CG770-2A_6

Xw=96,79,Y,,=100,00Z,~111,46 B,
,3140y,,=0,3243 g
Ar=(ag~[ag ntag atay v) Y
By=(b1=[by,ntby atby v]) Y

ay = ago[(x-0,179H]

by =byo[2/4]

ay =1, byp=-0,4
Mr;=1,000b7,=0,171 :
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n = Mex -10
ay y=ay(Y/Y1g-1)

Xw=96,79,Y,,=100,00Z,~111,46 B,
%y=0,3140y,,=0,3243 it
Ax=(ay-[ag ntap atao vl) Y
Bo=(by=[b b atbp v]) Y
a =g [(x-0,171)/y] +
;=50 [(MpyX+hp)/y]
ay=1, byp=-0,4
mp1=-0,169,bp;=0,389 c

111
<<<<
LIuE

]
5
L

n = Mex -10
85 y=ay(Y/Y1g-1)

’\\#ex I -

0,000 0,000
by v=boy(Y/Y1g-1) by y=boy(Y/Y1g-1) 0.000 0,000
a,y=0,000,b,y=0,000 ayy=0,000,b,y=0,000 i 0,000 0,000
ay A=0,014,b; 5=-0,008 ap 4=0,014 by x=-0,008 0,000 0.000
Munsell-System Y,,=100, Mex Munsell-System Y,,=100, Mex
C=2,Vv=1,2,5,8&9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
Buntwert (Aq, By) Buntwert (A, B)
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Xy=96,79,Y,,=100,00Z,~111,46 B, X,=96.79,Y,=100,00Z,~111,46 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% xw=0,3140y,,=0,3243 T10 — ﬁ%
Ag=(ag-[ag ntag atagy]) Y — V=5 As=(ag~[ag nta, atau,yl) Y — V=5
B3=(bg=[b3,rtbs atbs v]) Y — v=8 B4=(b4=[04,rtbs, atba v]) Y — V=8

ag=ay [(x-0,171/] i
b=y [(Mpx+bp1)/y]

ay = a0 [(x-0,179] 1
b=y [(Mpyx+hp)/y]

30=1, by =-0,4 r> 30=1,by=-0,4
Mpy=-0,974,0,=0.658 : ) \ A.;3 mp;=-0,169,bp1=0,389 ; ‘Q ' >
n = Mex -10 L_/L/ 10 n = Mex -10 Y 10
a3 y=ayy(Y/Y1g-1) Mexo 6 GGG ay y=agy(Y/Y1g-1) Mexo 5 G
b3 v=boy(Y/Y1-1) 1 0,000 0,000 by y=boy(Y/Y1g-1) 1 0,000 0,000
8,y=0,000,b,y=0,000 0,000 0,000 8,y=0,000,b,y=0,000 0,000 0,000
ag 5=0,014,b3 4=-0,008 0,000 0,000 ay,4=0,014,b, o=-0,008 0,000 0,000
Munsell-System Y,,=100, Mex Munsell-System Y,,=100, Mex
C=2,V=1, 2, 5,8 &9, Mex r-10 C=2,V=1, 2, 5,8 &9, Mex T-10
Buntwert (Ag, B3) Buntwert (A4, By)
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X4=96,79,Y,,100,00Z,~111,46 B, X,=96,79,Y,,~100,002,~111,46 B,
Xy=0,3140y,,=0,3243 +10 - ﬁ% x=0,3140y,,=0,3243 T10 — ﬁ%
As=(as—[as ntas atas y]) Y — v=5 As=(ag—[35 n*3 atasy]) Y — v=5
Bg=(b5[bs ntbs atbs v]) Y — v=8 Bg=(06~[be, i+, at+bg 1) Y — V=8
a5=a,,{(+0,861x-0,719/-0,026)¥] 1 ag=a,{x/y] +
bs=,,[(+0,19%+0,386/-0,240)#] be=byy [(Mp1x+bp)/y]
a9=1,00,b,,=1,00 29,=1,00,b,=-0,40 /_\ \
Ap G,y R=475,508,574.494¢.E, im D : A;, Mp;=-0,974,b5;=0,658 : /] @\ : 3
n = Mex -1 3 10 n = Mex -10 A 10
3 y=2y(YV1571) Mexo 000 0,000 % y=2ov(YV1571) 0,000 0,000
b5 v=boy(Y/Y1-1) 0,000 0,000 bg, y=bay(Y/Y1g-1) 0,000 0,000
8,y=0,000,b,y=0,000 0,000 0,000 8,y=0,000,b,y=0,000 0,000 0,000
a5 5=0,014,b5 4=-0,008 0,000 0,000 ap,4=0,018,b o=-0,006 0,000 0,000
Munsell-System Y,,=100, Mex Munsell-System Y,,=100, Mex
C=2,V=1, 2, 5,8 &9, Mex T-10 C=2,V=1, 2, 5,8 &9, Mex T-10
Buntwert (As, Bs) Buntwert (Ag, Bg)

CG770-7A_6 CG770-7N CG770-8A_6
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oS 52 525 MEnseII_—System Y,»=100, Xy=96,79,Y,,=100,00,7,,=111,46 B*u -
08 17 M C=2. V=12, 5, 8 &9, Mex %w=0,3140y,,=0,3243 40 =
oL i O5) *O:(aO_[aO.n+aO.A+aO.Y])Y18(Y/Y18)1g — V=5 > —
i — Va1 B*5=(bo—{0o,+0o,a+00,v]) Y1&(Y/Y1g) — V=8 5 C
e ag = ago [X/Y] 1 = w
— Vs =byo [z i
—e- by = byo [2 @
ay=1, byp=-0,4 W\ A%, S XN
_ ; ; SA\\ S SR
n = Mex -10 & . L 10 c =,
Q625 ag y=apy(Y/Y1g~1) S W0
570! . 0,000 0,000
9295¢,E bo,y=bay(Y/Y1571) Y_- 0,000 0000 Qs
85,=0,000,b5,=0,000 0,000 0,000 — @
a9 x=0,018 by 4=-0,013 0,000 0000 =8
CIE 1931 X Munsell-System Y,,=100, = C
3 C=2,V=1,2,5,8&9, Mex T-10 z >
0,0 0,2 0.4 0,6 0.8 .0 Buntheit (A*o, B*() o) Q
CG771-1A_6 CG771-2A_6 -
X=96,79,Y,=100,00Z,~111,46 B* B X,=96,79,Y,,=100,00Z,~111,46 B*,, B & N
*y=0,3140y,,=0,3243 10 - Xw=0,3140y,=0,3243 2.0 e c 8
A*1=(31‘[31,n+31,A+31,v])Y18(Y/Y13)1;§ — V=5 A*2:(a2_[aZ.n+a2.A+aZ.Y])Y18(Y/Y18)1g — V=5 > 0
* 1701 [0, +01 A*D1 v]) Yag(Y/Y19) — V=8 B*5=(bp=[b2 ntbp A+by v]) Y1(Y/Y19) — V=8 « )
ag =y [(x-0,179y] 4L A =ayo [(x-0,171)y] dL
by = byo 21 by=bao (e x+p)] S
=1, by=-04 %» A* 80=1, by=-04 A* j J WY
mr1=1,000by;=0,171 : ))) it Mp1=-0,169,bp,=0,389 TS, )2 \
n = Mex -10 «[ i/'dex 10 n = Mex -10 \\‘J)e)x 10 90
=, (YY1 =ap (YIY1g1
§1,v_§zyEYly1s_1; = 0,000 0,000 aZ-Y_aZV(Y/Ym_lg 0,000 0,000 v o
1,Y=Day(Y/Y1g [ 0000 0,000 b2,y=by(Y/Y1g 0,000 0,000 T
2,=0,000,b,,=0,000 0,000 0,000 ay,=0,000,b,,=0,000 0,000 0,000 o~
ay 4=0,014,b; ,=—0,008 0,000 0,000 a 4=0,014,b, A=-0,008 0,000 0,000 < ~~
Munsell-System Y,,=100, Munsell-System Y,,=100, | O
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10 > G)
Buntheit (A, B*) Buntheit (A*,, B*,) g
CG771-3A_6 CG771-4A_6
= = n
X4=96,79,Y,,100,007,=111,46 B* L X4=96,79,Y,,~100,007,=111,46 B* . Qr
Xy=0,3140y,=0,3243 210 = %,,=0,3140y,,=0,3243 110 5 )
—_— V=2 — V=2
A*3:(33_[33,n+a3,A+a3,Y])Y18(Y/Y18)5§ — V=5 *4:(a4_[a4.n+a4.A+a4.Y])Y18(Y/Yla)1g — V=5 oz
* 3=(b3[bs itb3 At03 v]) Yae(Y/Y19) — V=8 B* 4= (04~ [b4,n+ba atbs y]) Y16(Y/Y1g) — v=8 ® >
ag=ay [(x-0,171/y] 4L ay=ay[(x-0,179H] + H
b3=byo [(Mp1x+0p1)/y] bs=byo [(Mp1X+bp1)/y] ;
a0= 1, by = 0,4 L . ax0=1, b= ~0,4 "
Mp;=-0,0740=0658 | ) : A# 3 Mp1=-0,169,bp,=0,389 : = A? 4 -
n = Mex —10 2 svex 10 n = Mex -10 & - 10 -
=ao(Y/Y1g~1] =as(Y/Y1g~1 -
a3'Y_a2yEWY18_1; 0,000 0,000 ?-Y_aZV(Y/Ym_lg 0,000 0,000 )
b3,y=byy(YIY1g 1 0000 0000 4,y=Da(Y/V1g 1 0000 0000 wn
ay,,=0,000,b,,=0,000 0,000 0,000 ay,=0,000,b,,=0,000 0,000 0,000
ag =0,014,b3 4=-0,008 0,000 0,000 ay, 5=0,014,b, o=-0,008 0,000 0,000
Munsell-System Y,,=100, Munsell-System Y,,=100,
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1,2,5,8&9, Mex T-10
Buntheit (A*s, B*2) Buntheit (A*,, B* ) —
CG771-5A 6 CG771-6A_6 C
X,=96,79,Y,,=100,00Z,~111,46 B*, . X,=96,79Y,,=100,00Z,~111,46 B* . o
%w=0,3140y,,=0,3243 +10 — %y=0,3140y,,=0,3243 T10 - !
— v=2 — v=2
*5:(35_[35,n+35,A+aS,Y])Y18(Y/Y18)1;g — /=5 *6:(36_[aﬁ.n+aﬁ.A+aﬁ.Y])Y18(Y/Yla)1;2 — v=5 Z
B*5=(bs5~[bs +bs Atbs v]) Y1g(Y/Y19) — V=8 B*6=(bg=[b6,n*bs,A*bg,v]) Y15(Y/Y15) — V=8 Q
a5=a,[(0.86%-0.719-0026)¢] | a6 = a3, [Xy] 1 =
bs=b5,{(0,19%+0,386/-0,240)§] be=bax [(Mp1x+bpa)/y] =
a9,=1,00,b5,=1,00 e * 2,=1,00,b,,=-0,40 e * Q
A6,y R=475,503,574,494¢ . nm ifa ™ A# 5 Mp=-0.974p,=0688 /77T | A# 6 o
n = Mex . “\Jé} 10 n = Mex _10 k\ J :/ 10
a5 y=agy(Y/Y1g-1) ex ag y=ag,(Y/Y1g-1) SR O
' =by (Y/Y15-1) 0,000 0,000 byt (VIY 1) 0,000 0,000
bs,y=byy(Y/Y1g 0,000 0,000 6,v=02y(Y/Y1g 0,000 0000 o
7,=0,000,b,,=0,000 0,000 0,000 3,=0,000,b,,=0,000 0,000 0,000 Q.
a5,4=0,014,b5 4=-0,008 0,000 0,000 ap 5=0,018,bg 5=-0,006 0,000 0,000 D
Munsell-System Y,,=100, Munsell-System Y,,=100, 11
C=2,V=1,2,5,8 &9, Mex T-10 C=2,V=1, 2,5,8&9, Mex T-10 =
Buntheit (A*g, B*5) Buntheit (A*g, B*g)
CG771-7A_6 CG771-7N CG771-8A_6

TUB-Prufvorlage CG77(x, y), Buntwerte A;, B;), Buntheiten A*;, B*;), Adaptation: 5A#0, 5Y=0

Munsell Chroma2, Value=1,2,5,8 &9; experimentelle Lichtart M (X, Y)ex=(0,3140, 0,3244)
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-6




